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| GENERAL AWARENESS |

1

Which af the following is rated
the poorest region af the World 2
(1] The Middle East

() Asda

3 Sub-Saharan Africa

] Lkt Aavierica

(3] Nong of these

Which el the following terms is
NOT used In the world of ‘eco-
nommics nance?

{1} Sinking Fund

{2k Third Waorld

13 Open Door Paliey

14 Disvaloation

15 Privilege Motion -

& Dot al the otal 11|:||:51,|!|:|l:ll;|n.1:ll'ﬂ1ﬂ
vorld about B0% of it lives in

2

1] Devvelopeed couittries

[2) BRIC counirics

[4] Latin Amerlca

4] Developing countries ©

[5] Mok of these

Rashiriya Swasthya Bima Yoju-

nit [RSEY) bs ascheme anched

by thee Mindistey of - b S

11} Finance

2l Rural Development

(3 Commmeme

{4) Industry | (5)-Labour

A What s the fullform of the ab-
breviation ASEAN 7

= 1) Association of South East
Agro Nalinns

12 Association of  South East

| Asian Nations.

| {1 Afhances of South East Astan

4.

| MNatlons
| 41 Allianee of Soath East Asian
Neighbours

15) None of these

6. Which of the following is the
scheme for providing electricity
conmectiona to all the fural
househaold in the country 7
(2} ASHA [2) Swadhar
(8 KutirJyoul, (4] Deep Mala
{3 None of these

£, Muny times we read about 'PEF
in ecgnomic erature, What PPP
i=? 1L & & concept which -

[1] tells us that exchange rates
between currencles are in
equilibrium when thedr pur-
chasing power s the same in
baoth the countries, -

@ tells us that exchange rates
between currencles are in
equilibrium when thelr pur-
chasing power is different in
both theé countries

[3) PPP means the current Ex-
charige 'Rate of a currency

apalnst IS 5
{4} a rieEare of noome negoual-
For More Visjt =3

15 Mone of thiese
B. A5 we all know the Human Che-
velopmeit Tndex [HIN i=an in-

dex ol social performance in a

single composite index, 11 is an

Ercliealicn of -

(1) disparity reduction e, hu
man resource developrment
rate aned the composite Imcle.

J-I‘Dﬂg;ﬂl}" education and liv-
imgg slandard, :

[3) the facllitics for minimam
educational attainment

(4] GDFal 4 nation and the sta-
tus aof its Balance of Trade

{5 Mone ol these

8. Whichioneaf tl'u:!ullmvingﬁmn-
triea 1s not conskdered a MNewly

Ineduasirfalinecl Comntry [NIC)2

11} South Afrcd

{2} Medoo {3 Bredl

(4) Thsrkey ~

10. Which of the [following
siatement{s]) is/are corvect about

National Rural Employment

Guarintes Act (NREGA) 7

o i NREGA I8 applicable to all
rural areas of the country.

s [BrOnly Bematniction work shall
be given to the woarkera em-
Plyed under this Act.

() Every worker |= given an
amount of Rs, 250 pér day
for a eight hoiirs shift.

{1 OnkvA 2} Only B P:\

3 OnlyC 4y Oniy A% B

BlaAlAB&ECL_~

11, Which of the following ks NOT
true about farmers in Least De-

veloped Countries (LDCs] 7

{1] The stapke crop is the chiefl
source of food

12} Labour is underutilised ex-
cepl lor planting and hanest-
Ing scasons

13} Omn the traditional farm, out-
put s always greater than
COnNImpiEn
Ol heaters utilise ondy A smeall
portion of land

5] Mone of these |

Which ol thie following organiss

tionsfagencics controls: the mon-

etary poliey of eur souny 7

i1) SEB

{2} Panni

{3 REI

4 Unibon Mimistry of Finanee

{5 Mone ol thesa

r‘;m.a_rtga Rumar Sen F.':I'I'l[:-l'lil.‘l:li\'.'

a that having enouggh to ead e

pends an one very cruclal (ac

tar. Which af the following is theat

Commmission

13

factor ?
[1]-Bociety's system of entitle
' ment
[ Distribution of agriculiural
irecirme

[3) Low poverty rates

{4} Structure of the family

(5} None of these

The MNalional Food For Wark

schieme s now submerged with

which of the fallowing?

{11 Pracihan Mantn Graun Sadak
Yojana

12) Mahstma Gandhi National
Rural Emplovment Guraniee
A v

%] Bharst Minman

4] Tadira Aveas Yojaro

[5) Nane of these

Many a time we read about For-

lility Rate in economic lteramire,

What Is Fertility Rate 7

[1} The total number af children
laewm i & country inoa given
vear divided by number of
chikdren died.

121 The number of childrén bom
Lex an mveTage woman during
her reprodictive years [0

13 The number of births in'a
couniry divided by total pop-
ulation im a gven year

14,

g:fimiiﬂﬂgfmw;%ﬂﬁﬂmie is Only for reference.

1t May Vary tlﬁ%&ﬂlﬂﬂﬂm
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18,

7.

ia.

19,

21.

age group of 15-45% years in |
& country dhvided by total
number of women died dur-
I chilel bicth.
sopMone of these,
ow ia dual economy distin-
puished from other economies 7
T is & mlxbare of -
11} Industrial ssctor and mani-
facturing sector
1) traditional agricultural sector
and a medern industrial sec-
tor ]
[ state oamership of the means
of production in cooperation
ol foreign organisations
[4) Induetrial sector and trading
af goods obtained through
imiports
(5} nione of these
Watershed Developmeni
Schemes are a part of -
(4] Development of Rural Econ-
ey
(Bl Developrment of Skilled Work-

ers

T} Development of Irrigation fa-
cilides in. India

(1 Dak A [Z] Only B

(3} Only A & © 4] _Snly C

(3 Ala B&C

The second summit of which of

the following organisations took

place in Brazil fecently ?

(Gs @ G2
{3 SAARC (4] ASEAN
i5) BRIC

During the recent Depression

worlkers in Dﬂ:lupﬂrj countries

prefemred 1o take inferlor jobs

Instead of lay off. This situaton

s knowmn as :

(1) Seanemal ILTLENMMIIUE""

{2 Oyclical urvemployment <

(3] Disguised unemployment

[4] Voluntary unemplayment
Nane of these

Which of the following terms is

MOT associated with the game

of Football?

1) Carner kick

(2) Wideout (3 Linemen .

[4) Follow o (50 Full hack.”

On which one of the fnllowing

ismues. thers bl been & dispute

between [RDA and SEBI?

{1} ULIP products. -

2 Viclathom of SEBI guldelines
in respect of investment by
big pompanies in equities

[4] Overlapping of the functions
of [RDA and SEBI
[5] MNone af these
22. As per the reports published in
various newspapers Maharash-
tra and Gujarat have signed an
agreement on lnking of major
rivers of the state. Which of the
following is a commen river be-
tween both the states?
JlrWarmada (2} Ganga
3 Krishna (4} Betwa
[3) Wone of these
23, We have noticed at on several
occaslons that cost of petreleum
products, luctuates frequently.
The actlon of OPEC members at
times to Hmit outpat and (b pric-
e may be understood as an ac-
tion arising out of -
(1) nstruetions from WTO
uctieation in output
{3} practices of the all indusicy
{4 group dynamics
cartel
24, Which of the following countries
worn the FIFA World Cup 20010 7
1) Germany © {2} Netherlands
13} South Africa
I i 45} Brazil
amongst the following is
NOT a Badminton Player?
(1} Aparna Popat
(2} Satnm Nebwsal
VNS Laxman
*Fo P Coplvamd
15) Chetan Anand.
26, What 4 Bilateral afd 7
(1) It is technical aid given by
1.M.F. tovarious countriea
J21-1 s given directly by one
-~ country to another
[ It i aid with the condition
thiat the repayment will be in
Inconverifble currency
4} It s a commercial loan made
tions jolnthy
(5} Mone of these
27. Who amongst the following 1a the
author of the book “A Himalayan
Love Story'?
i Namitha Galchale
{2} V. 3. Naipaul
{8 #nita Desal
{4 Lazand Sehgal
{5 Noneof these
28. Which of the following s the
name of the organisation creat-

25,

2] SEEI

i 4 AMPF
(5] Mane of these
28, Who bk Nandan Nilelkand 7
{1 Chalrman. Unique klemtificn- |
bt Lion Authority af [ndins
12) Chalrmart, Arport Authoriby
of India
(¥ Member, UGC |
(4] Member Planning Comimis-
sion |
[5] Mone of these |
30, Which af the following countries |
will host the-next SAARC Sum

mdl?
(1} India [# Bhutarn
(3l Nepal 4] Fit

{5 Nane of these

3L Which af the following organiss-
tions /agencies is specilleally se
up to boost overall rural devel-

opment in India?
[1} RBEI 2 SIDp |
@'M&Eﬁ.ﬂﬂ (4] SEBI

(5] Mone of these
B2, Commonweallh Games 2000 anc
to be organised in Delhi in the |
mvonth of
i%ﬂﬂnber
August
15 September
33, Which of the following cups is
associated with the game ol
Hockey?
|4l Agha Khan Cup
DM Trophy
(3) Davis Cup |
(4} Derby Trophy
(5} Rowers Cup
34. Which of the [olbowing is a hortd
culiural crop?
(1) Urad

[ MNewember
[4) December

(2} Jowar
4} Wheat

ABaj
iﬂangﬂ
a8, ng to Flanning Commis-

slon, the degraded sobl of which
o ol Uhe following States, pos-
es-a big threat to food security
and Can Couse Seriols Econom-
Ic implications to the nation?

(1} Haryama

t@kUrtar Pradesh

(31 Maddbhya Pradesh

[4] Kamataka 8] Punjsh
Which al the lollowing arganiss
tions maintains the Foral Infrs
structure Development Fund
(RIDF] 7

Hotke v The. Inforseticn Frowvided here 1= Only for refersnce.

It May Vary the OBl inad - csai



"DtE 3

3 SIDBl 8
®] None of theas
. Which of the fcf]inw.’!hg o/ e
true abodit the Competitin Com-
ryission of India [CCT?
A O s a regilatory body hayv- |
r..,r qpuendi-judicial structure,
estahlished 1o reslacs
Monopoibes and Restric- |
teve T'rade Privelbees Act,
1) Its madn objective is to cre-
sbe a healthy envivenment in

[I} RBL ; |

(ST

corparate worid,
Vil Gnly A 12 Ondps . oo
Ol @ R AB & O !

15 Nona of these s i |
358 According to RBL which one af |

tiwi: following i the biggest con- |
the eounbey?

| Delit crisis in Enrape
1.5. Ardkation

3 G growth

I-ﬂ Facal defhei

gErn O

(B Moo of these |

9. Which of the folliwing arganj

I:lun:l has. recently lan el |

“Farmerg” Informaton Servicsde
S5 ‘o el farmers 0 O jarat |
alnlis?

= inte Sank al tndia
2} Bi '
) Relianes Groin o indussries
BARD
{51 Mane of these
Ak Om which one of the Jollowing |
souniries, the Uaited Natens |
o Cotimed] [UNST has tm
wetlone? 1
LEYinnl Korea

i} Moy

41, Muhammed Yunos of Sang-
ladesh who was awarded Nobsai
prtiot B 'few yeare ek & a B
kS thnl

1] Asalbe ik

[3) ‘Sockl worker
(] Scientisl
51 Mone of thess
‘Sacred
2T oy
ArTymita sl
12} Arundhanti Roy
i3 Hiran Desal

¥ Gamos 1o 8 aovel writ

) fhaesthwant Singh
{5 Mone of thesa |
Whia nrmon s the |,_..h|1-‘.l|,|_L= Isa |
IzrnnDies nuelbar 7 [
+ W-~Zhean Bhegat

43

& G Codamir 1

151Nm‘n.-f:lf{hm: bl
4. The GE20 Surmrmit wis crganised

I e 2010, in which uff.hu.--

following clties 7
1) Londan * (3 Pare
13 Toloa i Taronto

{5 Mone of these
The Government ol India has es
lablished o siralegic reserve ol
abwiat 8 million tovnea’ of which
of the following commodities?
1y Steel 2 Sugar

R - ki ; m.g !!." AUER

A8,

i

T iurch
T thie !
- ren attending schonol
(2] Those whoare getting Mation

al Oid Agr Pendlon
13 Wiorkers 'nf National Raral
Empleyment Act
¥ REsident doctirs of Govérn-
' mient Hospitals in rural ar
iV (AT

15y MEne of thee 00

A7 Whith ol the following 1 NOT a
CashiGrop®
{1y Tebeceo (2 'Cotton
[ Coffes " ML-Baiam
IR T

48, Merilers of the Raj Sabbia are
electet] ﬂm it bt el .

[1¥-4 yodrs 2 Eimm

J3F6 years 4] Boyears
8] Mone of these

44, The 122 Cricket Workd. Cup Fi-
nal- 2011 will e nlayed inwhich
ol the following sities in Inda

Bioun T Cncana

1o kB Neme of theae., .,

ﬁﬂ-ﬁftﬁhﬁghe.._ mﬂuﬁummufﬁuﬁ
cuiltisral Seceor in the otal GOF
m\?mr T
e
S S0 '

FMeEal SeHpine s
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| ENGLISH LANGUAGE |

Directions [B1 - 65) : Read the
following passage carefully and an-
swer the questions given below it
Certain wordsy/phrases have been
printed in bold to help you locate them
while answering some ol the question.

Organic farming Is either really
expensive or really cheap. depending
on where you live and whether or nol
you are certilied. Not only are the “nat-
ural” peaticides and fertilizers increas-
ingly marketed by agribusiness as
oostly as or costlier than their chemi-
el | mﬂﬂu-pana. but proving you are
an ofganic farmer requires sertifica-
tipn, which is time-conswming and
wxpensive. [n the USA, converting Lo
arganic agriculture is a huge under-
taking for commercial [armers, who

hawe relied 6n chemical fertilizens and
pesticides for many decades, bul in
Jdndia. the conversion is no less ardu-
oud A far more ironie.

Intia’s farmers are still mosthy
prciising organic methods, passed
dérern for millenmia. Organic fertilizer
and natural pest conbrol are the r_'mj:r' |
tenls avallable to most of these farm-
ers, who have abwaes lacked the [i-
rrarcial resources (o explore chernical
solurtions, But these farmers, whoss
produce is As organic as they come,
cannnt allord to pay the fees required
to gain official certification,

Asthe international comemunicy
ariopts stian dards for organic sgricol-
ture, the challenges faced by farmers
im thie LISA versas farmers in indiain
order Lo adapl are bery different in-
Aeped. The danger is that the well-
dintentioned globalmove towards or-
ganic standards will make small or-
ganic farmers In cotintries e India,
whit have nover done anything bl

orgarie firming no I.ung;ar alale toael]
T_hzl.r crops.

In response tosthe 526 bhillion
{glohal market for organic ioods, the
Indian Central Government sei up o
Mational Insttute af Organic Farming
i Oetober 20030, The purpose of this
institute s to formulate rules, reguta-
Uons and cerlilieation al organle G
products inconformity with interna-
tidnal standards, The institute has its
offices fornss the country and has
appotrted certifylng agencies for or-
ganic farm products for the domestic
markel. The certlfying agencies are
accouniable for confirming that sny
product sold with the new "India Or-
gante” logo is in accordance with in-

mq.l"rﬁu

L

The

jmﬁd' ufmuﬁnaﬁ vn‘i'l G,

—New Testament



awareness and maﬂmu:mamm
in India and abroad,

Organle farming has been iden-
tified as & major thrust area of the
Loth plan of the central government.
one billion rupees have been allocat -
ed 1o the aforeméntioned National In-
atitute of Organic Farming alone for
the 10th five-year plan. Despite this,
most of India's nrgal‘:lt [artng aré nol
officially considersd organic, Most of
Indin's farms are "organic by default.”
The irony and difficulty of the new
governmental push for organic agri-
cullure s that 65% of the country's
| eropped area ls “organic by default,”
according to a study. By this some-
what degrading term Livey mean that
small farmers, located mostly in the
Eastern and North- Eastern reglons of
the country, have no choice excepl Lo
Larm without chemical fertilizers or
pesticides. Though this is troe in many
cases, it is also true that a slgnificant
aumber of them have chosen to farm
organically, as their forelathers have
done for thousands of years. Many
have seen for themselves the effects
of chemical farming — soil erosion and
Toss of soll nutrienis, ioss of nutriion
in food, and human diseasea result-
ing from the chemdeals that inevitakly
seep into the water table, all the rea.
soms for the urgent demand for or-
ganic foods and farming.

India currently has anly 1,428
ceriified organic firms. This statisti-
cal diserepancy reveals that the weak
link in the crgankecfeconomic chaln 1s
certification, Under current gavern-
ment policy, it lakes four years for a
[erm 1o be certified as organle. The
vost al preparing the report is a flat
fee of Re. 5,000 and the cerliflcate
itsell costs another Rs. 5.000. While
these costs are bearable for the new
industrial organte greenhouses, they
are equal to or more than an entire
year's income for the average small
farmer, 4F the costs of travel and in-
speciion are included, -

farm plan ororganic handling plan
must be submitted to 8 USDA -

accredited private or stale certifica-
tion program. The plamrr must explain
all cureent growing and meth-
ods, and any materials that will be
used - in the present. and any future
plans musi be included as well,
Records for the last five years must
be presented. Land must be chemi-
cil-free for three years prior to har-

intihe United States anorganic

nbs:r:h-: Lh: nrg:anbtla.hﬂ tncr 1.h.¢ th
sltlonal years. This will generally
mean a decrease in Income - crops
may be less plentiful than with con-
ventional fertilizers and pesticldes,
and yet the higher price for organic
products won't vet be posaible. Many
farmers cannot afford the transition,
even if they want to,

COme solution (o the small farm-
er's dilemma of how to both cerdfy
and survive is Lthat of community cer-
tification. In community certillcation,
communities, on & non-profit basis,
take charge of the certification pro-
ceas Lhemselves. They evaluate the
farmer’s commitment to the stewand-
ship of the soll, and examine from
many angles whether the {ood is be
Ing grown in an environmentally son-
sitive way or nol, rather than technl-
cal standards, While community cer-
tiflcation may be aviable salulion on
the local level. it Is owr opinion that.
in the global markeiplace, less than
exact technical standards will never
be enough for ioday's consumer- and,
in today's largely polsoned environ-
ment, it shouldn't be, aither. Further-
more, much “soft” guldelines can eis-
ily backfire on the farmers them-
selves, as a syvstem nol based on facts
must be by definition subject to lecal
pelitics, bribery, favouritism, etc,

‘India must find & way 1o keep
the strict international organic stan-
ciards intact i it wants to compete in
the international market for organic
foods- but is there a way to do it with-
out leaving small farmers out in the
cold * One obvious solutlon is for the
government to subsidize these certifi-
cation fees enough (o make il a via-
ble option for endinary farmers, ool
Just for reo-organic factory farma and
gresnhouses, Banks also could pro-
wide a more level playing field for small
farmers. Currently, almost bank loans
are for pure crop farmers: While
many of theae big-busincss farmers
use harmful chemicals and process-
s, small farmers fertilizing thelr soil
with recycled orgianic wiastes are usi-
ally ineligibile for insurance, much less
state aubsidies. .

51. What robe does the National In-
stitule af Organic Farming have

o play in the organic farming

area?

(1] To et standards for the im-

port of material required for
organke farming within India

.',ht'ﬁduth wn[urm to the in-
ternational sitandard for or-
ganic foods

(3 Tosuggest methods o fam
ers for producing the besi
arganic products,

(4) To import the best organic
fopds from international
countries and harvest them
In Lndia.

15) To sel up agencies interns
tionally for the marketiog of
Indlan arganic produce

. Which of the following is possi-

by the most appropriate title lor
the passage 7
(1} Agribusiness in fndia

(2] Organic Farming in Thdia - {

An Irony

{3} Inorgande Farming - A Health |
Hizard

(4] Small and Marginal Farmers

5] Owganic Fanming tn ndis and |

the US

Why. according to the author. i

the term “organic by delaull”

degrading 7

{1} As Indian farmers are adopt
ing incorrect methods of or-
ganic farming, thereby ren-
diering the crop uscless

(2] As the crop cultivated out of
organde farming is rejected
by most international agen-
cles,

3} As all the farmers in Indindo |
not have any access tochem- |
ical fertilizers and pesticides

to carry out inorganic farm:

[4] As the Government has s
sued a directive to farmers

In Trudia vo carry oul ofgank

Tarming alons

{5} As it means that the Ganmers
in India cennot afford Lo use
anything but erganic meth-
ods af Tarming

Which of the following are rea-

gons for Lhe increasing demand

for organic feods and organic

farming 7

(A Consumption of inorganic
Tood has given rise Lo human
diseases

[B] Excesabve use of pe:ttil.:i.dl.'b
hms caaed soil erosion

0] There has béena loas n aoil
nuirient value of aoil due to
chemical farming

Motd 1. 3hE IZIOrCmAL:iIch FProwided Here

15 Only O Iefersnce.

It May Wary ChepiFiamid. - .
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57,

[2) Cmly [a'l.l and {H]

{3 Omly ICH

[4) Only iB) and [C)

(5] All (), (B) and (C]are true

Why according to the author, will

the e ol communily certifica-

ot ot work

(1} As there may MLMEﬁnugh

0 petplein the eommundly to

' work on a non-profit basis

{2) As the farmers’ may not be

o fortheaming bnproviding tn-
formation about thelr cultva-
tion practices and thus kead
tothe failure of this system

{3 As the certification granted
through this scheme will not
be authentic atall

(4} As certification somugght irnthis
mEnnEr may give rise to vest-
cd Intercsts and also not
meet the siringent criteria
lakd chowrn g@lobally

(5} None of these

Which ol the followdng is TRUE

in the context of Lhe passage 7

A The Inclian Gorermamenl is not
In favour of acquiring certlfi-
cition 1o meet glubnl stan-
dards

8§ The process of cn!rﬁl'iu:atﬁnﬁ
s cquite time- consuning and
EXpeEnsive.

) The larmer does ol earn
much during the thres -four
vears that it takes wo get cer
tileation

(1} @nly [A] and (C]

12) Cmly [B)

{3k Only (Bl and {C)

{40 Oy b and {B)

{51 ALl (A), (Bland{C)

‘What according tothe author, BB

a major prohiem with-Organic

Farming in lndia ?

[1) Despite thelr organic nature
most farms inndiaare not

pemlvadaam'guﬂltw:

ol mere paperwork

(2} Thi :
attention lo ofganic farming
in India thereby promoting
Inorgankc farming to-a great
exbent

(3} Only recycled organic waste
ls available to Indian farmers
[or the purpose of organic
farming

) -Ecdian farmers are accus-
tomed to the vsage of chem-
tcals and their. farms have
nipa started losing thelr fer-
ity

Government bos oot pakd

lnma are '.m:rae mme !:Iea_

ol organke fArming as it is not
profitatde

S58. Which of the following, accord-

ing to the author are factors that

can help in acquiring -organic

Farming‘ certification in India 7

(-] Providing m;nrc'bqrﬂr. loans o

small farmers
{8 Reducing the quantum of
Toians being provided 2o pure
crop farmers
[} Loveering the cost ﬂ!' certifi-
cation
(1] Oy 1A}
[2) Omiy (T
(3 Omly (Al and (C]
(4} Qnly (B) and (C]
(5 AT AL, (B and (C]
MHrections [:B'B - 62 1
the ‘word/group of wcrl:da which Is
most similar in nfnni-n,g o the word /
gronp of words printed inbold as used
In the passage

88, ARDUOTS
[1] pleasuarable ki
(Z)different” (3 difficult
[feaious . T (hretening
.
[l;r i L (2] contemplate
(3] apply {4} frame -
18] rmix
61. DEGRADING
{1} commupting (2] mindmizing
(3 lowering 4] demeaning
{5 worTying
a2, /
(] bt'l:n:‘mr: [i!li'nrﬂm:dmt:
H}n&ruluthm v
[4Ibnst 63 changed

I.I-lmt:tlm {63 = 68) : Choose
the word/group of words which is
most opposite in meaning to the
m;mﬂm pringed in hold
as used i -I.he passage.

B3

ni‘hnpmm-_ iﬂmsali"f
- 8 deadiy [4) practical

i5) rilimentary

B84, INEVITABLY
(1) avoidably (2] moatly

4] eertainty [4) expectedly
(5} predictakily

43, ACCORDANCE
[1] diwisiom [2) quarrel
(3] taarye: 4] enmity
[5) pondlket

Eﬁuc@: :

5 oAV (G E ¥ (i}
the: phrases (1), [2) [Bhand 14} given
below each sentence shouldreplace
the word/phrase printed in bold in
the senlence to make ibgrammatically
correct P If the sentence s correct as
it 1& given and no coprection s re
gquired, mark.{3] as the answer.

66, Since Riva did not want to be
liial.urb:r.’l while ltml-:.rh':g- she
bt the phone off Hooks.

(1) off the hook

(2} off hooking

[ Tor the hook

[} of houk

(5 No correction regiired
- Binee Shilpa was orirbirdened
with work, *Deepa ﬂmdud 1o
gave her hand.
{1y ghving hands

(Z¥ghvé her o' band

[ ghving her handiul

[4) gave her hands

[ Mo correction regqured

Despite having passed out from

schioal over ten ¥ea: . oaclt, most

schonlmates hﬂ-ﬁuptﬂw}hwﬁ!:
each other.

(1) ‘are kepl loutned

[2)1s keeping touch

z {3 keeptoached
bt i) el ket fey ok
(6] Mo correctigrireguined
Beeln has well awareness of L
Tactthat heractionsvwoukd have
terrible repercussions,
110 s well aware ol
12} has aiware for
(3} 1s aware tos
[4] i% in awaréness with
%) Mereorrection required
Shashi tricd s hard he would
o win the race bul falled to do
B0,
(1) aes harelly soche eould
12] as hard as he could
{3 huirdly soas’
14] 50 hard that conld
g ] M éorrection reguilred
Directiond [T1 - 75) : In each
af the !‘mhwin,g ﬂl:l!'!ﬂ.ll:lﬂl Toner wiorels
are given af which two words are most
nedarly the same or opposiie In mean
ing. Find the tuo words which are most
n-ua,rl}ﬂhn BATIE OF rq:m}ﬁirr. in mean

combination is your &nswer.

TL () Disciple (B Stademn
{CH Acaderny (D) Martyr
{fiIra-c -0
MB-C MB-D
HAa-B

ing, The number of the correct leiter |

t# = The ITntommestacon Prowmided. Dere 15 Only o Celersnce.

I My Vary thesOriatned o



Hobte

@ B-D
IMA-D !
T3 W Ordinary | [B) Vingue
{8} Custom {0 Execepticnal
NhAa-B & B=~C
|- ) A-D
HB-D
T4. A Damaged
B Harried
1C) Comdemined
1B Measured
[11.A-B Boc=-0
(1) B=T» 4H-B~G
(5} A= D
7B Al Remote [Bj Troubled
0] Secluded (Dl Apparent
fIjB-C [BHa-D
#NB-D [ C-=D
BA-C
Diregtions (76 - 80) : Rearrange
the following s sentences (A, (B], (C],

[CA, [E} and (F] in the proper Sequence
e frrmm p meaningiul paragraph; then
anawer the guestions given below
therm,

[ A legal [ramesnork s (hus,
nerw avallable for promoting
energy afiiciency tn all sec-
{ors of the seonommy.

(B} The increasing preference for
eoserial energy has lod o
A sharp inerease in/the de-
mand for elecliHeity and fos-
sfl fuela.

([ There sl 8 considerable
potential for repairing such
damage and reducing ener-
gy consumption by adopiing
energy efffciency measures
at warious sectors of our
eouminy.

(D This framework s nothing bot
2001, the success of which
greatly depends on the peo-
ple whio take the lead in sup-
poriing this programme.

resulted in emission of a huge

. guantity of carbon dinxicde
LS AETIOUE STV -
tal damage.

[F] These adopted measures will
not only reduce the need to
creale new capacity regquir
ing high investrment, but alsa
result in substartiag envieon-
mental beneflis,

{E] This use of {ossil [uels has

i

ltbe !'IRBT uniem.: aﬂrr rear-
rangement

L, f [} B

13HC i)

BFE }

7. Which of the follouring should be
the FOURTH scntence after re-
wrrangement ¥
(IVE (2 F
[3FA (41D
5B

78. Which of the followtng should be
the BECOND senlence after re-
arrangemnent ¥
(2} B 12 C
{158 B AN E
BF ] .

79, Which of the following should be
ihe LAST [EDXTH) sentence af- |
ter redrrangement T
{1LA 2B
&< 4D
5} E

B0. Which of the following should be
the FIFTH sentence alter rear-
rangement ¥
(1] A 218
3o 41D
BE

Direciions [BE - B0 ; Rend =sch |

sentence to find out whether there is |

Iy H;numatm efror or idiomatic
erpor in'it The evror, If any, will be in
onee part:of the sentence, The num-
her of that part s theanswer, If there
is ne ervor, the answer s ‘5, (lgnore
erpors of puncivation. i anyl.

Bl. More than hall of the food prod-
wcts (1)) targeted af babics ancd
toddiérs have {2)/ a high sugar
content  and are (3] excesalve
gwest. (41 Mo ervor {8,

‘Thie foreign eompany has so far |

dieciined to {1, directhy comment

o the Indian Campany’s mave,

121 f which analysts say is 4 sign

the compaiy wanting to (3)/

fight far its presence tn the mar-

ket (41 Mo error (5)

After forty vears of trying tor{ 1)/

understnd winy asbestos caus-

eucancer (2)/ regearchers have
now finally (3 unravelled the

mystery. {4 Ne errer (5)

B4, 1 property dealer was 1)/ shoot
dead by four unidentified jack-
et-clad men (2} while taking a
marming walk (3 ioa pavi. 4/
No erTor I'ﬁf

(1) reality- i:a:—l-n pop lepd

hunt, B (2 going an-fe tall

swing, (3] with numerous on-

tries came in. {31/ No eoor (5]

B6. To curbing the spreatl al vio-

lenee, (1] authorities haought

vnder eurléw (2] more eeeas n

the State, where [3}/ three

youths were kilped. (417 Mo o

ror [5)

Demand lor dbsse] cars, Ll

has {1}/ been on the foe Tae H

lasl few ehrg, (2] miy dig e

the grvermunent s increaskng the

price (3} af the fuel, bringiag it
closer to that of petrol. 141/ Mo

ervar (5]

B8, Mot only was the actross oo
the moan (1] as winnlng an
award. hut was [2)/ also deeply
tatrched by the sappart (3]0 S5k
gt from the industey A g
error {5]

B8, The protestors went on @ rmm
-pﬁﬂlfql (1) /- aryed gl ablas e
shopa 2]/ resuldng n injurics
to thirly peogpic (3] inclhoding
women and childron. (417 Mo
=rrar [G)

. Hectle schiduies can {1}y
A tedl on anybody and 5]/
=alulions ‘0 lki= = (37
holkday tosoms fxatic eeation
{24 No s=rror (5]

Directions (91 ~ 100 : 'n th
fellowing possage therz are blank
each n.l'whi"_h has beer nuimbersd
“These mumbers ore printed below th
passage and againel sath, e veard
are suggesied, one of whizh fits th
blank approgeiately. Find oo Uhe
propriate word In sach oo

Iruclia has Besvne s
Erg poseer partty Dornis. Ll-l. oLaih kg
et peonomy Inthe world. lis
nomic (§l] simce 1280 heo hee
among the (831 rapid. Althoogh fndi
ma.nmd Iis o= huurdl::rl.l-u"i:.i& itk
early 19090 it avalded the catasurop!

Iz losses (83, Whils many [84) 1hi

exposing Indla’s economy o glafh

competiton would pevral Indls'n o

nomic (@8], It hac rather reveal

strergths and often u

strengths in new areas no plana

weould have (98] of. Indla 1z incr=a

Ingly takdng it [87Y an the @obal siay

andin internation sl fonims ae s 21

cenlury Superpower, The @er

of politicians amnd poliey maioss
hawe becn [88) of leeding ‘ndiz

where it is Loday can be fustiliahly (9

of the transformation. Bul schi

B7. th

ki
18]

153 g4

| Sperifeoal o wiviiegis the e ies of lovg. only For reference.
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ments creake nl:w[;l.m. o of which
are ~improving service delivery, par-

Heularly to the poor, through greater
asrountahility and sxpanding the ben-
efits of rapid growth-across sectors,

regioms. and people,
21 (1] decline (2] policy
(3] crisis {41 treaty
{5 growth
82 (1] several (2] very
{3) most {4) mueh
[5) a0
83, (1) emd |2} detericeation
(30 thus 4] together
5} elapwhere
B4, (1) ashked 12] feared
133 think 4] spoke
{3] belleve
88, (1) growith |2} space
12} gain (4} weakneas
[Sharodd
86, (1) questioned
© 2 dreamed
{Narranged (4l plan
5} wanted
B7. 11] msdier (2] ]'ﬂm:ﬂ
37 life (4] generation
i5) mark
a8, (1] part (2] iasues
(3} husmans {4) fugmient
{5 thought ;
20, (1) worried {2lLangni
{3 homoured
12) distinguished
5] prowd
10D, | L] impoasibilities

2] cvaluations
(3} ehallenges
[4} compartsans
[5) cangers

eirele 7
| QUANTITATIVE APTITUDE|| B 18 96 161 213 252 @ (1) 618 sq cm.
Directions (101 - 105) : What @265 4201 g;ﬁ:‘: puc
.T]]mm-:i_nphﬁrdmtqmsﬂgnmm (3 None of these {4) Cannot be de =
{7 In the following qu:atl.on: S ’],l!!. i 13 24 40 681 @A {8 Nouc:of these
193077+ 0343 =077 s 05 | ” ML @ IR o
BT i a (5] Hore of these to the comt ol 12 kgs of rice. The
3 ) 1 55 180 M coat of 3 kg of lour Is equal to
Jrione of these 5 = Eﬁ_ﬁ?—-ﬁw one ki of Fice, The cost of one
I.? 1575 + 21 + 6 = ﬁx & L {4} 206 kg of flour is Rs. 17.50. Whal
| meﬁt Is the todal cost of 3 kg of appls,
P 12 25 Y o m“‘"“ag e 2 kg of rice and 4 kg of four
RN ] 4] 2.5 w107 @ na temgethier P
| 1% Mone of these il 109 (1] Rs. 543 (2} Rs. 527
| 103 54 x IZ5 + 05+ 165 = 74 8 More of these {;I} N]?.!L FIE:[l- 3 i Ra. 553
4895 i one of these
| 106 2 110 1?1?131 14;'3 EJJ[QJ'E? 128 M | 124. Thirty five percent of 740 is 34
) 120 [4) 158 (3 o8 4] o2 mare than a number. What |s
{5} Mone of these _gf?'ﬂum 27 ki : two-fifth of the number 7
N od

WWW - prEVlDL‘IEPEPEIE co.in

104, (o1 528

e 12} 4

e 47

|5 None of these

32.5 =% 26% of 450, + 3 -
T45.85=7

(1) 54 2522

13 632 [4] 612

5) Nowne of theas

Directions (106 - 110} ; What
approzimate value will come in place
of the questian marlk {7} in the follow-

ing questlons 7 (vou are pot expected
to caleulate the exact value)

O e
108 2- —] ==
i e e

(2} 4
i) 15

105,

(11 2
(3 12

_Ea] 7
107. [14.98)® - (3.99) + (BO1P = 7
gﬁ?ﬁ 12). 600
“141 580
i5) 540
? 35.01% of 950 + 18.99% of 601

(1) BE0

470
13 400 4] 540
= 420
W.ﬂé = 3001.01 - 699,00 =
"~ 7 - 409301 Hp
m iz} 9500
0,000 " i4) 10.500
(5] 0,700
401+ 2098 x 9,96 - 100.01
J:':'I
(1) 460 {2} 650
o 4 250
5§ 200

Directions (111 - 115} : What
will come in place of the question mark
%) in the following number series 7

Disections (116 - 120 : In the
&hu&ﬁgquuﬂmmwmn—
bered | and 1T are given, You have to
galve both the equations and

Give answer (1] If x>y

Give answer (2} If x2 u

Give answer [3) ITx«= gy

Give answer (1) T x <y

Give answer [5) T x=|)

ar the relationship cannot be
eatabilished

118, 1. x'! - [l?gﬁ]‘lﬂ'

1. m]?ri-,.;“‘gﬂ.f!l‘
117. 1. 2Zx+ 3y =19

1. Ta-dy=123
1168. 1, Z+ 12 =Tx

1. v3 430 =11y

= 58
262 = 250

118, 1. 1§+ Jx+18 = 171
H. y® - 640 = 321
a3
w0, 2005
w A

18 7

i :E Ju 'E
121. A man sold an item for Rs. 6.750
at a leas of 25%, What will be
the seliing priee of same item I
he s=lis it at a profit of 15% ?
11 R=. 10,530
12] Fs.9.950 (3] Rs. 10350
[3) Ra.11.340
15 None of thess
The sum of the circumference
ol a cirele and the perimeter of
A rectangle is 132 cm. The area
of the rectangle is 112 5, cm
and hreadth of the rectangle is
B cm. What is the ares of the

122,

Rnowledge cames, bur wisdam tingers,

—dLard Tennyson

Mote

The

Information Frovided here Iz -0y =fors ey oms ruali ST

fn =



4 120
(5} None of thiese
1Z5. The ratio between the angles of
a quadrilatersl s 6 304 : 5.
The amallest angle of a teiangle
is one-fourth the largest anghe of
the quadrilateral. Largest angle
of the triangle is 10° more than
second largest angle of the iri-
angle. What s the second larg-
est angie of the trizngle ?
(1] 807 2) &r
[ 7o
{4} Cannot be determined
ENone of these
126 A traln covered a distance of
1235 km in 19 hours. Also, the
average speed of & car Is four-
fifth; the swverage apeed of the
teaie, -How much distance will
the car cover im 22 hours 7
11234 ke (2) 1144 km
AR 1E3 b - 1 24 ke
‘18] Mone of these
. The ratio helween the present
agu.n['menm and Priyais 3 4
respecilvely. Ten yours ago the
ratio belween their ages was 4

Noto

T respectively, What will be
Meera's age alter 5 years 7
[1] 18 years (2} 24 years
[3) 23 years (4} 28 years

5] Momne u{'lh::::
128, The marks of nine stu-
cleqits in pla 63, Three of

them scoped 78, 68 and 45
marks. What are the average
marks of Trma.l.nlng six mlu-

dents 7
11} B3.5 (2) B4
{3) &3 Hi'sas

[5) None of fhese

the guestions that folkow

—— o

_} g T 35 < B :

( OGN R\ s Xa - Dk

Number of Clerks and Officers recruited (in thousands) by five different
banks during six different years

"D together inthe year 2006
the number of Clerks renruJ.lnd
by bank A 1n the year 2009 7

(1 31118
1% 33 : 17
{3) 18 35
@) 1801
5) None of thess
135, ‘What was the sverage number
‘of Olficers recruited by Bank.C
gver all the vears ?
(1] 3.000 (2} 5.000

(3] 90,000 ) 5.500
{5} None of these |~

134. In which bank the number of
Clerks recrudted continuously

increased during the year 2004
129. A bag conzains 7 ved Balls, 4 b 2000 7
green balls and § vellow balls, 1 OB and E
What is the “probabitity that 3 H UE B
B lbs el it random are elther (3} Only E
green or vellow 7 4} Only € snd D
{1} e 12 32 {5) None of these
150 50 185, Total nirmber of Officers reeril-
q 3 ed by all the banks (ogether in
(k] 350 L o theyesr 2004 was approdimate-
1y what percentage of the total
) Hotps 4 et number of Clerks fecruited by
130, Six boys or four men can com- m&mmeymmm
plete s piece of work in 24 days. 2008 together
i, pow may <agd Wil 3 Bovs W @
and 10 ten r complete prighe i :-:.}1:3";4’
the same plece of work? : e
e [ 8 (5 102
e el | Wisit us as
) Cannot be determined I T —TTIY
{5) None of these [ wwwkiranprakushancom |
e o o s e e e ] ) e 5 ol o o 5 o B

Banlk
Yoar A B c o E
200442 | 16 | 8|22 | 53| 38 | 69| 58 | 77| 69
(2005 |52 | 27 |58 | 4.6 | G0 | 4.0 | 70| 5.8 | 548] 4.4 |
F006| 33 | 30 |49 | 9.8 | 6.4 | 46 | 95| 78 (98] 70
200757 | &1 |8l S8 [ 74| 87 |66 63 [11.5] 9.5 |
2008 | 6.9 a8 5.8 5.7 a.B Grod Ti7| O.56 |14.8 113 |
Zo08| 7.2 | 58 [BO| BL| 6.8 [ 5.5 |I06] 88 [15.8]10.7 |
131. Inwhich banl the tatal sumber Directions (136 - 140) : Siudy
of Officers snd Clerks récrulied | the Tollowing Ple-chart and the tahk
together In the year 2008 {5 sec- | given beside it carelully o answer
ond highest ? Lhese questions,
{1} E Ac Percentage wise Distribution of
3B A lecturers in 8ix Different Subjects
WD in a University
132, What was the reapecilve ratio Total number of Lecturors : 1600
Tetween the total number of OF- Percentage of Lecturers
fheers recruited by ha.n]t = aqgi

Ratio Between Male and Female
Lecturers in the University

Lecturers | Males| Females |
Mathematics a3 4
Eduicatinn g 3
Himdi 1 3
Chermistry 1 7
Fhyslcs 2 5

Fi "]

136, Total number of lecturers [both
male and lemale) in Hindi is ap-
proximately what percent of the
totad aumber of female leclurers
in Mathematics and Chemisiey

together 7

[1] B8 20 43
3} a7 4 01
[G] 40

137. What |s the difference: between
the (ol mumber of lecturers
{dth male and female) In Pooln
gv and the total number of male
lecturers in Chemistry and Ed-
ucation together ¥
1) 182 2] 182

EC MaYy VALY CNes o Gil a8 s . Ldr.



NWumber of Mights (in bundre

15} Nl:lm: of these
138. What is the différence between
the number of female lecturers
in Zoology and the number of
male lecturers in Hindi 7
(1) 158 (2] 150
i3F 150 4] 153
15} MNone of thess
What is the total number of male
lecturers in the university 7
i1} 594 [ T
3 712 [4] G&8
[5) Mone of theae
140, What is the respective ratio be-
twreen the niumber of female lec-
turersin Physlds and the num-
ber of male lecturers in Mathe-
matica ®
(s 2129
a7 53
{5 None of these
Directions (141 = 148] : Stady
the following graph and answer the
questions that Tollow,
Number of Natlonal and Interna-
tlonal flights (in hundreds] can-
celled in six different years

M MNalianal Mights
O internatonal Qights

139.

-5 16
o 14

m o ke

n1]

L= -

a3 b= o
= =1 =
= = =
o) = L]

-
=
=
L= ]

2003

Tears

141. What ia the appreximate aver-
age muamber of national Nights
eancelled over all the years 7

(1) 780 2 867
) 528 4] 824
{5) 785

142, Total number of international

fights eancelled in the years

2006 and 2007 together s ap-
proximately what percentage of
internatiznal Dights cancelled in
the years 2003, 2004 and 2008
together 7

143,

1 /BN
81 21

Whiat is the difference between
the total mumber of national
flights and the total number of
international fights cancelled
aver all the years ?

{1) 500 (2] 250

3 700 {4) 450

(B MNone of these

In which yvear is the total mum-
ber of MHghts (both National and
International) cancelled the sec-
ond lowest 7

(1) 2003 [ 2004

(3 2006 (4} 2007

15) None of thess

What |5 the respective ratio be-
tween the mumber of intermation-
al Mights cancelled in the year
2007 atwl the total number of
national fights cancelled in the

144,

145,

vears 2004 and 2005 together 7
ey CEeis
@Is:0 e

(5] None of these

Directions (148 - 150) : Study
the following information carefully to
answer Lhe gquestions that follow :

In a tourmament., & todal number
of 400 phiners have participated in five
different sports, viz, badminton, hock-
ey, lawn tennis, cricket and baseball.
15 percent of the total players have
participated in Badminton: Two-fifth
of the wotal players have participated
in hockey, § percent of the total play-
ers have parficipated in lvam tennis.

| 25 pereent of the total plavers have

participated in cricket, Remaining

players have participated in baseball.

Ome-fourth of the hockey players e

fermnales. 20 per cent of badminton

players are male, Hall the playvers whe
have participated in lawn tennis are
males, There are 45 female ericket
players; No fernale plaver hias p-m‘l'lt'i
pearled in baseball.

148. Number of female players par-
ticipating in badmimton is ap-
proximately what percentage af
the numberof players panicipat-
ing in basehall 7
(172 (21 75
{3 80 (4} 95
[5) 86

147. What 1s the dilfrence Détween
the humber of male players par-
ticipating in hockey and the mm-
ber of female players participat-
ing in livam Lennis 7

3) 102 [4) 108
o [5) Mone of thiese

148, IT dues torcertain réason cricket
gane was diopped and all the
crickét players left the tourna-
ment, then what would be the
total number of male players in
the toumament *
[1] 20 (2 210
[3) 190 [4) 220
[5) Mone of these

146, What is the respective ratio be-
tween the number of male play-
ers participating in badmintan
and the numbser of fermale play-
ers participating In hockey ?
{1y 3:11 2 310
(3 &:11 ) 116
(5} Mone of these

1500 What Is the tolal number of fe-
males players panticipating in the
tournament 7
{1y 120 [ 120
3 145 {4 155
15) Mone of these

REASONING ABILITY

181, Town C is towards the South of
terann B and tovn A is toward the
Morth of town C. In which of the
following ‘directions is town A
with respect 1o Im\-'n B?

(1) Marth

(2} Sanith

13} South-West .

(4] Cannot be determiml

18] Weat

How many such pairs of letters
are there in the word MARGING.,
each of which has as many let-
ters between them in the word
[irs basthy forvmrd and backward
dirsctions) as they Have betwesn
Lbwisrmy in the Englishi alphabetical
series

{1} Mome [2) Ome

31 Twa (4] Thires

[5) More than three

it is possible to make only one
meaningful wordwith the third.
fourth, elghth.and the ninth let-
ters of the word ‘CENTURIES'.
which srould be the second let-
ter of the word frome the left? If
more: than one swch word can
be formed, give 'A° as the an-
swer, If no such word can be
lormed, give "2’ as your answer,

152

153

{11 A [Z} M
(3T [4) E
(52

Mobke.i Jhe InofLolSAnLD

“EBron

waGEd] Ders LR LOERAY IR, LECETEROE .
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154. The position of how many alpha-
bets will remain unchanged if
each of the alphabets in word

PRODUCTS is arranged in alpha-

‘betical order from left to right 7
(1) None (2] One
{3 Two 4] Three
(5 More than three

188. Which ol the fdllowing repre-
senits the correct relationship as
indicated in the given fgure 7
[Nutnmmrﬂymth:mnw—

@o

(1] Vegetahles : Apples : Frults
{# Gears : Tyrea : Cars

[ Cone : Cylinder : Sphere
(4} Planets : Solar eyatem : Gal-

axy
(5 Gald : Silver : Metal

188, What should come next In the
following letler series 7
abedefbecdegeodeh
RLES e
[Ed g
(5} Mone of these

187. Four of the following five are
allke in a certaln way and hence
form-a group. Which one does
mot belong to the group 7
(1) Paper {2} Wigsal
{3 Cotton 4]} Wood
(5] Plastic

188, Solidiers” are related to 'Army’ in
the same way as ‘Flayers' are

related 1o
(1) Game
[2) Tournament
H]Ci:laln
158, ?ﬁmmulnaptmmﬂcphuuhm
"hmnnmwamlyd:ludiu
my father's only son™. Whose,
;&Whmmm‘?
(1] Brother's  [2) His own
|H Couslon's (4} Father's
(5] Nephew
180, What will come in place of ques-
ton {7) mark in the following se-
ries ?
BC EF IJ NO?
(st f2rTu
[ (HOR
[5) None of these
Directions (181 -185) : Study
the following information carefully and

answer the given questions.

In an international meet, repre-

sentatives, &, B, C. D.E. F, Gand H

from eight different countries viz: Thal-

land. France, Holland, Austra, LLS,,

Spain, India-and Germarny (nod neces-

sarily in the same order) sit arcund a.

eircular table facing the centre, A who

represents Germany sits third (o the
left of E. The one who is from [ndia

. sits lo the fmmediate right of A. D who

s from Holland gits second Lo the right

of B. B iz not an immediate neighbour

of E. C who s from Spain sits exactly
in_the middle of people representing

U.5. and India.G, the representative

from France slts second to the left of
H who Is from Thailand.
161 How many people sit befween A
and representative from Austria
when counted in clogkwise di-
rection
(1] Nome
[3) Twa
(8] Four- !
182, Which of the ﬁ:]l:rwmgu'l“ﬂ.ilﬁ
regarting representative F?
{1} F is the: representative of
Austria
(2} F sits sccond to the Ieft of
the representative from Thai-
Lanid.
{3, Representative from Geoma-
ny is not an immediale neigh-
bour of F.
(4] E sits third to the right o F.
5] None bs trae
163. In which of the following pairs
ie the représentative from the
first country sitting to the imme-
diate lefl of the representative
[rom the second country 7
(1} India - Thatland
{2} Austria - U.S.
{3) Thailand - Holland
(4} Spain - Germuny
(51 U5, - Spain

184. What is the position of Bowith
respect 1o the pesition of repre-
sentative from the LS. 7
(1)°Third to the left

12} One
14} Three

{2) Fourthto the rght
{3 Fourth to the left
(4] Second to the right
{5) Second to the left

168, Which al the following pairs rep-
resents: the immediate neigh- -
! bowirs'al the representative from

Holland 7

{1ce 12/ BE
{31 Al (4 HB
{5l GE

WWW . pr=1.r ouspapers.co. in

The representative of wh.lcjn al
the followtng countries Is seated
secend to the beft of Indinn rep-

rlﬂ.

resentative 7

(1) Thatand f2) U8
{3 Framce 4] Spain
5] None of these

187. The representative of which of
the following countries sils.ex-
Eﬂymﬂumlddhbfmzmim

' sentatives Irom Thalland and

Franoe?

() Halland [2) Austria
() Germamy ~ [4) U.S.
(5} None ol these

Direction (168 = 170) : Read the
Tollowing informistion /statement care-
fully and answer the guestions.
188&-Which of the lollowing expres
sjons will be true if the ,qwu.n
expression 'K 2 G = H g
definitely true ?

F=K ' ~MH<H
@A F=G H.HizH
(5] Nene af these :
1n which nfﬂ'n:_l'ullmrlnggxms-
shons will the expression A < D
be definitely true 7
(lMMAzB=C=<D
21A>=B=CzD

AR A<Be=CcD

Ha>B«CzD

|5} Wone of thess
170. In whichof the following expres

sions docs the expression

"'M:-quﬂ:nnt h.u]d!,rul:'?

TMIM=F>Q=K

d2lM=FPrQ=R
AN R=P=Q=M
M R=Q=P=M

B

take the three given statements 1o he
true even if they seem to be al vari-

clustons logically follows from-the giv-
en statements disregarding common-
Iv kenown facts.

Hwe answer (1} if only conclue
sion | follows.

Give answer (2) if only conclu-
slon’ l'l‘fl'a-]l:rws

“Gdve answer (3) If either con-
cluston F'er conelusion [ follows.

{an ANBWET (E1] if neither con-
clusion | nor conclusion 11 follows:

Gidve answer (5] If both conclu-
slon 1 and conclusion 11 follow

ance from commonky known facts and |
then decide which of the given con- |

The Information Prowi

Loeem b bwmmndl and enffpring.
ded here is=

only For reference.

—Muhatma Gandli
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hﬂ‘lyphmns are cyclones,
All winds are typhoons.
All clouds are wln-ds

1. All elouds are cyclones.

Statements :
Some Noppies are keyboards,
All kevboarda are speakers.
All speskers are monitors,
Conclusions !
I, Some monilors are (loppica.
1. Al keybaards are menitors
173, Gtatements |
Some keys are Iocks,
Some locks are doors.
All doors are windows.
Conclusions :
. Some Keys are doors,
1. Some windows are locks,
Statements :
All islands are courntries,
All continents are islangs,
Adl pliamets e counires.
Conclusions :
I. Some continents are mot
counlries.
11, No planet is acontinent,
175. Statements ;
All buses are scoolers,
Mo scooter is a train.
Somie tralns are jecps.
Conclusions : d
I. Nobusisatrin.
II. Some jeeps are scoolers.
Directions (178 - 180) : In each
fuestion below a statement s glven
[l by two courses of action num-
bered 1 and 1. A course of action s a
practicable and feasible step or ad-
ministrative declsion to be taken for

i7a.

174.

follow-up, improviement, or further |-

action in regard to the prablem, poli-
cy ete. On the basis of the informa-
tion given in the statement, you have
to assume everything in the statement
to be true, and declde which of the
suggested courses bf action logically
Tollow(s) for pursuing.

Giwe answer (1] il anly [ fnllows.

Giwe answer (2] i only 1 folbows.

Give answer (3] if cither | or 11
Follows,

Give answer [4) I neither 1 nor
[T follows

Give answer (5) if both 1 and 1l
fallow.

ar.ﬂl:hum.mmrd' thincs -'rdl-Hl
by tlgcrﬂ was much more than
the number of thinos killed by
poachers in awildlife sanctuary.

' Courses of action !

1. Stricter regulations ahmidhe
framned in order to punish the
poichers,

1. As done in some sanctuar-
s, ihe areas where tlgers
huntand the areas with dom-
tnant rhino popelation skoubd
bearificially separated.

177. Statement ! A mid-air collision
was narrowhy avoided when pi-
bt ol erie of ﬁwﬂlrmﬁamglm

el this dir Lraiﬂc controller’s n-

strsctons.

Courses of action !

I. Filotsof both of the afrcrafts
should be mmediately repri-
manded by reveking thelr H-
censcs,

11. The training of alr traffic con-
tredlera shoubd be Improved
and made more comprehen-
sive In order to avoid such
incidents in flituee

178. Statement : Oil apill from the
ofl carrler of one af the biggest
ofl companies has severely af-
fected the marine life i a large
area near the golf reghon.

Courses of action : '

i. The oll company shoukd be
‘pealiasd for the nefligence
and the harm caused to the
erviranment.

Il. Effotts shoiild be made to
ahill s ey manine ankmals
n the area as possible tosaf-

Er hishitals,

179, ﬁll.taml:nt t Many private

'Ia have been roportedly

d\:n}lr;g admission to students

ﬁumpaarl’ammts while pml’er-

ririg those with sound fnindal

backgrouned regardless of thelr
mefit

Courses of action : .

L. Poorstudents should been-
couraged o take admissjors.
only in Government run
dl:'illodli where such disorim.
ination does not exist.

1. The government should en-
faree o certain percentage ol
seals for students rom poor
Families in every sichool.

I..u-Ll [t O] has bel:u rising skg-
. nl]:i-carul.],}r in the cliy since the
last few months.
Courses of action :
1. The municipal avihorities
should take immediate steps
1o destroy the breeding plac
es of mosquitoes and im-
prove hyglene in the area
1. A campaign to educate peo-
ple abxoul e Wavs to prevent
the disease should be star
ed ualng Iocal media and so-
clal workers,
Directions (181-188) : In cach
question telow 13 given a statement
followed by two assumptions num-
“bered Tand 1. An assumiption s some-
thing supposed o aken for granted.
Yo have i corisider the statement and
the following assumptlons and decids
which of the mu:npt!m‘l’y is Emglicit
In the statement.
v answer (1] ﬁ'uf'l!'_lrhmump
tHon 1 is implieil,
Give anawer [2)f only Assump-
tion 11 is implicit.
Give answer (3) Il cither As-
surmption | or Assumption 11 is imphc-
it

Give answer [4) Il neither As-
sumption 1 nor Assuamption I is im-
plicit,

Give answer [B] il both Assump-
1barna [and I are implicit.

ill Statement t A keading universi-

¥ has begm & practiie of dis-
plaving results only on'the in-

tice boards.

Assumptions

I Al the studenta enmlled with
the university have access to

\ Internet al homs,

1. Most of the students refermed
to the results displayed on
hoth the internet as well as
the notios hoards eardier.

I:H.. Statement 1 [ order LI:rJ'!!!.II'.'.:I:I-
ish the nutrients in the soll, it is
imfportant Lo grow different
types of crops every alternate

SEABOTL :

Assumptions :

I. A crop can never he grown
for the second time in the
same fleld.

[1. If a different crop ls grown
in the successive SEAS0N, N0
additional nutrdenis such as
Tertilizers are reuired to be
aclekedd Lo Lhe sail,

ternel rather than the main no- |

ol - T 1 % R 1 - b e



183. Statement : I farmera want Lo
tmprove thelr yield, they must
use organic fertilizers in place ol

“chemical lertilizers.

Assumptions :

I. Chemical fertilizers have cer-
tain ill eflects om health,

Il. Chemical fertilizers do not
produce as much yield as the
organic fertilizers,

184. Statements ; Store eatables in
the deep freeze in order to pre-
serve these for a long time.
Assumptions :

I. Food material remains eat-
able even afler deep freexing
for a long time.

. It is not posailile to stove any
eatahle al room lemperalure
even for a shorter period of
time.

168, Statements : A leading NGO
decided to open alibrary con-
taining books and newspapens
of all major publishers in a re-
mote village,

Assumptions 1

1. Al other nearby villages al-
ready have similar Hbraries.

1. There is adequate number of
lierate people in the village,

Directions [186-188] : Below in

esich fquestion are gheen bwo statements
(4] and |B}. These statements may be
elther iIndependent causes or may be
effecis ol independenl causes ar a
common cause, Ope of theae state-
ments may be the effect of the other
stalement, Read both the statements
and decide which of the following an-
swer cholee correctly deplets the re-
lationship between these two state-
menis.

Mark answer (1} if statement [A)
Is the cause and statement (B] is Its
elfect.

Mark (2] if stat it (B)
Is the cause and statement (A) i its
=ffect.

Mark answer [3) if both the
slatements (A) and (B are independent
CHLSES. "

Mark answer (4] if both the
statements [A] and (8] are effects of
independent causes.

Mark answer [3) i both the
slatements (A} and (Bl are efects of
SOIME COMITEN CRlse.

186. (A} The government has decid-
ed to take strict actlon
against the bullder responst-
bie for construgtion of the
bridge for having used low

previouspapers. Ca 1

.| -r-u-J‘-wunﬂk

"F-
S

m-mlﬂ.y muitertal thereby risk-
i meveral lives.

[B The government has decid-

ed tobuild a vehicular bridge

" ower the eiver connecting the
suburban area to the city in
order to reduce the trallic
Ioad on the main road,

187, (Al Many people prefer to shop
il the big retail chains than
the local grocery stores,

(B Retall chains offer a discount
ol more than 25% as com-
pared io the lecal grocery
shaps,

188, |A) More than two billion pounds
of chemicals are spewed in
the adr everyday by industries
and vehlcles of some coun-
ries,

(B Intermatinnal Pollition Control
Organtzation is expected to
penalize the countries which
cross the maxinmum emission
limits.

Directions {169-190) : Study the
following information carefully and
answer the given questions.

Aword and number arrangement

machine when given an Input line of

words and numbers, rearranges them

following a partbcular rule in cach step,

The following & an ilustration of in-

pul and rearrangement.

Input : Spark B2 27 Uva 46 Beat
Omni 73

Stepl : 73 Spark 82 27 Uva 46
Beat Omnl

above steps, find out In each ol e

fallowing questions the appropriate

step for the given input

188, Inpul : Oat 19 Eat 83 66 Car 54
Fur

Hewr many steps will be required
o complete the rearrangement 7
(1] Thiree 12). Four =

3 Frve 4] Sk

(5) None of these

Air 7H

Which of the following will e

step VI af the abiove ingut ?

(1) 78 21 42 Boat 34 Ink Wind
Alr

12) 75 21 42 Boal 34 Ink Wind

13 75 42 34 21 Air, Boat Ink
Wi

[4] There will be no such step
as it gets arranged belore
alep W11

@) None of these

mm{lsl-m Ineach of the guestions given below which one
of the following answer figures on the right should come after the problem
figures on the lefi, if the sequence were conitinued 7

Problem Figures Answer Figures
. ] — -
=] "-,ﬁ u E‘"*i LI 5 ol {1 T '.ITa-ff
101 26 | B | o] | [ || B | R B
plz Ul glo Ulo Lule k
I (21
182, =] ] 4] v o [ X x T
#E”“-.’-:.W:E,;.M”upﬁi.r Inam:-r::ho._'fic:u).:-- Vi -.::- xie 0o
a o T q D =
x = <] | | 3| i
{1 2 i3 HI 151
193, A Fre .| ”| - Eo] ﬁr A
| | T i
f\h?“ DI [|[TTA S AR
sl [T L& 1o o i d
111 [2] [E]] [L1] 131
184, R ] RN e | | Iil'_P' 'r-T"F'P'I z BiF Fl
ae | Pal & e | Palls | L L
b uly o e ullo bl el e
IlI [E1] 4 =
108, | | |
S!GHT{FHF‘B HTIPD F'GTH'FD"DA APDTVIDPOTV A-‘.'J'-'I:IFlA':i'HDF' AnTDR|

] o @ Bl

Stepll : T3 27 Spark B2 Uva 46
Beat Omnd

Steplll : 73 27 82 Spark Uwa 48
Beat Omni

StepIV 1 T3 27 B2 46 Spark Uva
Beat Omnid |

SlepV : T3 2T 52 46 Omni Spark |
LU Beat

Step¥l : T3 27 B2 468 Omni [.'.-.1 |
Spark Beat

StepVII: 73 27 B2 46 Omnl Uva |
Beal Spark |
Step V11 is the lasi step of
the arrangement.

As per the rules followed in the |

| 180 Input : Boat 34 lnk 21 42 Wind '

1 The

Information® Pfovided "here "1
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